Tableaux des Puissances de Dix (D)

Multipliez le nombre de la rangée par celui de la colonne.

1000 0,01 0,0001 0,1

85

22

46

18

16

0,1 10 000 0,001 0,01

81

69

97

72

31

0,01 0,1 1000 0,0001

60

76

12

94

78

1000 10 100 10 000

67

16

89

91

25
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Tableaux des Puissances de Dix (D) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 1000 0,01 0,0001 0,1
85 85000 0,85 0,0085 8,5
22 22 000 0,22 0,0022 2,2
46 46 000 0,46 0,0046 4,6
18 18 000 0,18 0,0018 1,8
16 16 000 0,16 0,0016 1,6

X 0,1 10 000 0,001 0,01
81 8,1 810 000 0,081 0,81
69 6,9 690 000 0,069 0,69
97 9,7 970 000 0,097 0,97
72 7,2 720 000 0,072 0,72
31 3,1 310 000 0,031 0,31
X 0,01 0,1 1 000 0,0001
60 0,6 6 60 000 0,006
76 0,76 7,6 76 000 0,0076
12 0,12 1,2 12 000 0,0012
94 0,94 9,4 94 000 0,0094
78 0,78 7,8 78 000 0,0078
X 1000 10 100 10 000
67 67 000 670 6700 670 000
16 16 000 160 1600 160 000
89 89 000 890 8900 890 000
91 91 000 910 9100 910 000
25 25000 250 2500 250 000

MathsLibres.com




